4. Solve the equation
=11,

giving your answer to 3 significant figures.
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5. Given that a and b are positive constants, solve the simultaneous equations
a=3b,
log; a + log; b = 2.

Give your answers as exact numbers.
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4. Giventhat 0 <x <4 and

logs(4—x)—-2log; x=1,

find the value of x.
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5. (a) Find the positive value of x such that

log,64 =2

(b) Solve for x

log>(11 — 6x) =2logs(x — 1) + 3

)
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8. (a) Sketch the graph of y =7", x€ R, showing the coordinates of any points at which the

graph crosses the axes.

(b) Solve the equation
T —4(7)+3=0
giving your answers to 2 decimal places where appropriate.
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4. Given that y=3x’,

(a) show that log, y =1+ 2log, x

(b) Hence, or otherwise, solve the equation

1+2log, x=log,(28x—9)

(&)

(©))

v dap Bat e loas (BRecaD

________...______ e 5

em =

or. oo = 9

""" Lo I0 T e Al e
[ e

blank

| |« 2-\‘:'%3& ______________ (CAS ("—e.q‘uﬁ(fad)




Leave
blank
3. (i) Write down the value of logg 36.
(0))
(i1) Express 2 log,3 + log, 11 as a single logarithm to base a.
&)
(I ) s ébr = 34 the~
........................................................................... ; 356 - 2 -6 s ?""‘-
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e
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6. (a) Find, to 3 significant figures, the value of x for which 8" =0.8.

2
(b) Solve the equation
2log, x—log, 7x =1.
@
2C
4(“4>_ 8 = ke 4 S
|c-'<35 R = leg ©- 8
o lgc:v) X : \czi:_, O

5l c;_t_:*,, -7

e = =4 SONR

o B e 107 Cxst

."’.D 2 loa.x = \c::?)3 e, = A
[ 10433_:34‘_ — l_C»S? jow wY,
........ | e __
= \CJ %—3 _—-i_-;(-— \ o SRR
2 e
_llc»«f):r,__bL e fome, ey 3 = |
i i ‘_, bt el e
i S s
B —13<
______ 7. .

Leave \
blank

A0 O 0 O 0 O 0




4. (a) Find, to 3 significant figures, the value of x for which 5*=7.
09
(b) Solve the equation 5** —12(5*) +35=0.
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8. (a) Find the value of y such that
log,y=-3
@)
(b) Find the values of x such that
log,32 +log,16 _ log,
log, x
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7. (a) Given that
2log,(x—5)-log,(2x-13) =1,

show that x> —16x+64=0.
(5)

(b) Hence, or otherwise, solve 2log,(x—5)-log,(2x—-13)=1.
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3. Find, giving your answer to 3 signif'icant ﬁgures. where appropriate, the value of x for
which

@) =16,

(b) log,(x—2)=-1,
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. Find the values of x such that
2log x—logx—~2)~2
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6. Given that
2log,(x+15)—log, x=6

(a) Show that
x?—34x+225=0

(©))
(b) Hence, or otherwise, solve the equation
2log,(x+15)—log, x=6
2)
EA 2 loa., (_’x:*-‘S_r\ —lecgox= 6
) __)4-. F | - =
lcﬂl C:r:.:i—-\S‘\_ _:\ch\_a, o ™ 6
b (o wl® ) = L
S 2
- S
T ok I
e il
: 3
{ e % \§-\ = A4
R = -
(2 els) = EY%oc
s g R b D DI o SIC
2" 4+ Rox —GYrc +225= O
B, Rl 4 D25 = O =) rKG;uLl:r‘eC;l

S"lVQ—” 321" 14—-1-\-22-3_ == I

(I:)C o o) = O

e, ot~ - R .o{"' ::;:.:-C;\

—— e

RO 0 AR

N s Sl 1 S PRI AL g o 7 e e ey



C 2 LMY 201

fix)=2-5x*+ax+ 18

where a 1s a constant.
Given that (x — 3) is a factor of f(x),

(a) show thata=-9

(b) factorise f(x) completely.

Given that

g(y) =2(3¥)-5(3%)-9(3") + 18

)

(4)

(c) find the values of y that satisfy g(y) = 0, giving your answers to 2 decimal places

where appropriate.
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o (1) Find the exact value of x for which

log,(2x) = log,(5x +4) -3
@

(i1) Given that
log y+3log 2=5

express y in terms of a.
Give your answer 1n its simplest form.
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